== A
N = 0] &F AF S & AN A
2022 = 20l & L BESH S A0
SA EAAD
HY: XL ObsE S04 84
CHRl: SAMAIEDI8F 25 (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
=4 A 25,914,039 20,668,838 5,245,201
= 1,311,937
g 142,000
Jl 1,527,713
Al 4,498,149
= 18,434,240
X Jisst sS4 |4 10,441,189 10,809,376 A 368,187
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Al 2,643,713
= 6,782,112
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O=s4t0l sHots U3 50,000, 000& 50,000
Al 25,000
s 25,000
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02 QIZHEAAIRE E X 59,778 59,778 0
OY=sJt g8 18 X&  150,000& x1603] *80% 19,200
OFEN MtRsyg H2E N3
5,400 *3,2005 *30% 5,184
O~ SHHHE P XA 20,000 6755 13,500
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403 MtXSHHE X0l E 170,000 0 170,000
02 S 2S0HHEAEE 2 E AL H 170,000 0 170,000
OsEE HERE 300AH 170,000, 000& 170,000
LEARGHOE OI ORI & XI At 4,404,800 0 4,404,800
401 AIEHI L 2 CHYI 4,404,800 0 4,404,800
01 Al&Hl 4,394,000 0 4,394,000
OLtALGH @ Ol HHl & XIS At 4,394,000
O& A& 144,000, 000& 144,000
O3 AtH| 4,000,000,000& 4,000,000
OZLIHE 84 250,000, 000& 250,000
03 A& S THHI 10,800 0 10,800
OLtALGHQH OICHRl E XIS A AIZ R 0HHI
4,000,000,000& *0.27% 10,800
Hichet3 X120l X1& 106,380 53,152 53,228
J| 53,190
Al 26,595
e 26,595




SA EAAD
M OfE, 00l 4o B &
Sl ASTA X4 (B9 ®R)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
101 14 Hl 106,380 53,152 53,228
J| 53,190
Al 26,595
s 26,595
04 JIZHHZ2XREES 106,380 53,152 53,228
outctead Xadol 2¢ 106,380, 000& 106,380
J| 53,190
Al 26,595
s 26,595
oot HHIALY 32,000 62,000 230,000
201 L2l 2,000 2,000 0
01 At 22l 2,000 2,000 0
Odfet 3HH =5+ 200,000& =102l 2,000
307 21201 A 30,000 60,000 230,000
05 BIZERIE 3 30,000 60,000 /30,000
OMaHA I HelsaH 30,000,000& 30,000
o 2Dl XMl At 284,000 284,000 0
s 142,000
Al 71,000
fia 71,000
101 @144 Hl 210,000 210,000 0
s 105,000
Al 52,500
i 52,500
04 JIZHHZ2XRHEE S 210,000 210,000 0
OcHLMAI MelAte 210,000, 000& 210,000
s 105,000
Al 52,500
= 52,500
307 21201 A 74,000 74,000 0
s 37,000
Al 18,500
[ia 18,500
05 RIZt2IEt = 74,000 74,000 0
QoM Il MelsaH 74,000,000& 74,000
s 37,000
Al 18,500
s 18,500
o QoFM 2te| 124,500 124,500 0
201 £B-2%H| 124,500 124,500 0
01 At 22l 124,500 124,500 0
O 2 Et==EH| 124,500
OLIAE, S0HaHEH orE e ¥ M2 H Xt
g9 123,000, 000& 123,000




SN EAAD
M o=, 010 49 A A
el MATA X4 CEEEED
SA - BB B () - MM - BES Ol &t o San HmEET
OdotialJl & oo ordel =9 s40
1,500, 000& 1,500
A 2 Moll=+ XA 102,564 92,400 10,164
101 @14 Hl 3,864 3,700 164
04 JIZHHZ2XNHEE S 3,864 3,700 164
O S ol CHYl 1= 85,860 x3H x152 3,864
201 L2l 84,000 84,000 0
01 At 22l 84,000 84,000 0
O el 2,000
Oz aes 23 2,000,000& 2,000
odxs 82,000
O s*0L Xt 42,000,000& 42,000
OdterAedl, Moo s S&EH Xt
40,000,000& 40,000
206 T2 HI 10,000 0 10,000
01 =8l 10,000 0 10,000
OXHTHOH CHHl H3kaba XI& 10,000,000 10,000
301 LA S 4,700 4,700 0
09 HALAHIXI &3 4,700 4,700 0
O THoll &It dl 24
8,000 x20H x20 3,200
OHICHESIAIYE & Mo s 4% AH2Y
3,000 2509 *23| 1,500
SUMSTRAG (HE) 20,000 20,000 0
= 20,000
201 LBH2E| 20,000 20,000 0
= 20,000
01 At 22l 20,000 20,000 0
OXIZYHEH Xt 20,000,000& 20,000
= 20,000
SolMZ2 2 HALS (SHItel) 5,000 5,000 0
= 5,000
201 Let24E| 5,000 5,000 0
= 5,000
01 At 22l 5,000 5,000 0
OdimtelHMH A& Xt 5,000,000& 5,000
= 5,000
=2 s N 72,000 90,000 A 18,000
= 72,000
307 gl2tol & 72,000 90,000 A 18,000
= 72,000
02 It S AHE L 72,000 90,000 A 18,000




2N
X ZH -
L= B

el

- _ _ RE]
SA BB (3H) - NRAY - B Ol At o %@ﬁ HRE2
Olnx2 s XN&E ALY 90,000,000 *x80% 72,000
= 72,000
Ol XHoH ol &t 54,000 54,000 0
Al 27,000
o 27,000
201 2Et24Hy| 54,000 54,000 0
Al 27,000
= 27,000
01 AP 22| H| 54,000 54,000 0
O THoH Ol &dHl Xt 9,000,000 *63| 54,000
Al 27,000
= 27,000
ol ot Bbtxl 2,000 0 2,000
206 M = Hl 2,000 0 2,000
01 =4l 2,000 0 2,000
Oolicted g & 2L 2,000,000& 2,000
SHHY A2 22 5,720 4,720 1,000
206 M = Hl 2,000 1,000 1,000
01 X2 H| 2,000 1,000 1,000
O28HUHY M= EH N 7
2,000,000& 2,000
301 LBt N = 480 480 0
09 HAIAHI X & 2 480 480 0
OSBYHHY ANE=ES &2 ZIIXF Ad EA
8,000 x4H 15 480
308 XX SHAHSOIH 3,240 3,240 0]
12 JIEt82 S =2 3,240 3,240 0
O=S8HHY =2 2= 3,240,000 3,240
AENHA Q124D AX 100,900 0 100,900
Al 90,000
= 10,900
401 AIEHIZL £ 0HY| 100,900 0 100,900
Al 90,000
= 10,900
01 Al&H| 100,000 0 100,000
OAEHAM Q124D EXIALE 100,000, 000& 100,000
Al 90,000
= 10,000
03 A& E2HH]| 900 0 900
OAEHA Q2D EXAY AEE20Y
900,000& 900
Eiat2d A =4 Y MEO%Y E& 1,608,695 1,438,722 169,973
Al 204,300




PA B

S ENS N3 A4 Y MIOsdd B&
Sl BN MEY 2 CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
= 1,404,395
B2 MEI2 29 1,134,498 881,830 252,668
BNl AME 2t 2 388,248 384,607 3,641
101 2121 4| 31,748 30,433 1,315
04 JIZtHI2E2EXNSE 31,748 30,433 1,315
OEHS 2 ME2 OHE L ot JI2ZtH2 2 At 31,748
(OPIE=3=| 73,2803 x2H x127 18,614
O 73,280& x2H x57 8,354
O=&Hdl, nsE| 10,000& x2H x 127 2,540
OIESY 1,440
. B X 40,000 2H x6& 480
. =0 FMAH 20,000 x2H ~6& 240
. =M 60,000& x2H ~6& 720
OY &=t 400,000& x2H 13| 800
201 Bt 283,140 280,814 2,326
01 Al 22/ 283,140 280,814 2,326
Ot =2H| 243,140
OMEI2 ADE F¢ 10,000
SH& X 50,000& =100&8+ A 5,000
., MYJISE 2,000,000& 2,000
SI&A 29 2 ADE 2¢
3,000,000& 3,000
Q&I S (A2, HX) 2= 1,500,000 1,500
OY&a2 IIEZM =2 200,000 x12& 2,400
O&H Xtz 15,660
, A=%D exE 65,000 *3CH x12& 2,340
., Bld gXxt=z 30,000& =190 x12& 6,840
., SIIEE) A= 45,000& =120 = 12& 6,480
OMEH2 =22 M 45,000
., MEIR 22 ME(22, Id2)
10,000, 000& 10,000
., Hge elZ28 =X HME(HEX 4,
AT ®J|) 15,000,000& 15,000
. MEZ E22 ME(E2Y, Y S)
10,000, 000& 10,000
. MEHR JIEE M 5,000& *2,000H 10,000
Oogo g2 298E YU (ZZ2EF= 2
X, JdomAas £) 5,000,000 5,000
OME2 A20|3 23 ¢ 4,000,000& 4,000
o9 3 sg4 HH 8,000,000 8,000
OF AN otd & S22 107,000
. AEAIE 220" < 400,000& x12& 4,800
. dJjotd e 29 600,000 x12& 7,200




M ESAD
M HSZ AR =4 & ML B
S BHEZME2 2
SA - ZE-B(EN) - NRAY - B S il &t o il
. I ®AH2 2Y 400,000 x12& 4,800
. 1 AH Y 4,250,000& 123 51,000
., 20dH 249 400,000 x12& 4,800
. BA HEAS 29 500,000& x63] 3,000
. M=X EA 29 2,000,000& »23| 4,000
D BEA BEIE USEL B
2,500,000& »23| 5,000
Lols o MUY MY 8
4,000,000& %23 8,000
o A HE2aEA 1,200,000& 12 14,400
052 BINBAN 422
130,000 =20 23] 520
Ol I8 =& ==+=2 1,000,000& 13 1,000
OM=ZX s=&2ZM =2 60,000& *13] 60
O&ANZE 72 10,000
o, IHE ¥ ARl JchE 22t
100,000& 20K 2,000
. dAE B 100,000& *20H 2,000
o HAIOH & AOIA KA 1,000,000 =44 4,000
. HE&g 28 2= 100,000& *20 4 2,000
Odl7 dAIE W& 25,000
. MAI2E L At OeHE T
500,000& 20K 10,000
CEAE HE L BAHE 2
10,000, 000& 10,000
. ME& 23 WH 1,000, 000& *5H 5,000
OXAE 28 dXUE2(IESE, HHE =)
3,000,000& 3,000
OtstZdE 2 28 &N 2
5,000,000& 5,000
OtHst 2 ME 2 SEIIEHA 29
40,000,000& 40,000
206 M= Hl 55,000 55,000
NEED 55,000 55,000
OEISIYMEIR 2% MAMS KHE 55,000
OdANEs M2 7Y 5,000,000& 5,000
OME ¥ A4E A (M0l ELEH)
20,000,000& 20,000
O224 JIXM 7 30,000, 000& 30,000
301 LeBAF 18,360 18,360
12 JIEtE 43 18,360 18,360
OEHSt 2 MEH 2 SHEAL R NBSAA AHIEY 18,360
Ol & At & HIB 4 50,0003 27 x12& 16,200
ONJASAMI =Y 10,000& 10 128 1,200




PA B

S ENS N3 A4 Y MIOsdd B&
Sl BN MEY 2 CEEEED
SN EB S (3H) - NEAY - BES ofl &k o San HDE2
OFALEUMNEA 2 AE 160, 000& *63] 960
ElSH2AHEN 2 22 675,050 430,023 245,027
201 et A H| 276,250 276,250 0]
02 332ZH| 276,250 276,250 0
OEiSIZME 2 S22 H| 276,250
O3 8,100,000& x12& 97,200
Odol+=E 22 2,400,000& x12& 28,800
OZAIIA 22 2,400,000 128 28,800
OTV A2 = 50,000& x12& 600
(OPSk-IReR=1E=2=I I} | PNPSE=T)) 30,000 x12& 360
OoHYS(dXYHE) 100,000& = 12& 1,200
OZHOIX & HEAAY SXNES
460,000& x12& 5,520
O+ g3l 300,000 300
OABortd &3l 50,000 50
O£Z2I| AFDHAIAE S 2 200
., BEZ2 100,000 100
. NIJEES 100, 000& *13] 100
Ost=2XNeME S M3 ] 2,000
, GXAESHIMMAEE 1,700,000& *13] 1,700
. AJIREES 100, 000& *33] 300
OAA &Hl 8 Xl 87,000
., AMEf2E HA S X 22l 30,000, 000& 30,000
. MMEHZ DJIHAEH A2l
1,500,000& =128 18,000
. MEjR MI|IAEH A2l
1,000,000& =12& 12,000
. MAESIIAIAE X2l
1,000,000& «12& 12,000
. AAE A SA2eldl 15,000,000 & 15,000
OMES X34 2e(UHAR)
2,000,000& x10& 20,000
OdZ2Hl(HAYAER) 1,000, 000& 1,000
O &dl X 2eldl (X HX) 3,220
., BEE 1,500, 000& 1,500
22l Hl 1,000, 000& 1,000
. 784l 60,000& *12& 720
307 212t0| & 104,400 99,773 4,627
05 A2t E 2 104,400 99,773 4,627
O ZMEI 2 HAEY 104,400, 000& 104,400
401 Al HI L 2 0HHI 291,100 50,000 241,100
01 Al&H| 291,100 50,000 241,100




PA B

S ENS N3 A4 Y MIOsdd B&
SR EHS 2 MEH2 2Y (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San H D2
O23"A B2 50,000,000& 50,000
OEHS 2 ME 2 =XE HHISA
212,000,000 212,000
OS2 MEI 2 MAlS =&IE Ald &X
19, 100,000& 19,100
OB ZMEf 2 =2 CCTV =t &Xl
10,000, 000& 10,000
405 XtabE SHI 3,300 4,000 AT700
01 AL 2B F SHI 3,300 4,000 AT700
OENSt 2 ME 2 ®AIZ b2 2 3,300,000& 3,300
HeE2 29 71,200 67,200 4,000
201 L2 A Y| 71,200 67,200 4,000
01 AP 22l Yl 71,200 67,200 4,000
Ot =2H| 55,200
Ofle24 A& (AL2E 2¢)
10,000,000& 10,000
OttstEa £T2AA 248
60,000& x43| x5& 1,200
Obigte+ oxe 89
6,000,000 x2H +x2& 24,000
oS24 H4XE Ha 29
1,000,000& 53| x4 & 20,000
oYxs 16,000
OLYA ARS&EA AXL 4,000,000 x4 16,000
gt &K X4 474,197 556,892 N 82,695
Al 204,300
= 269,897
s 29 56,877 139,572 N 82,695
101 2124 d| 56,877 54,572 2,305
04 JIZtHIZ22XNHESE 56,877 54,572 2,305
O™ HEEX AMEEX JI2ZtHZ22 X 32,698
o=z 75,8603 x2H x 127 19,269
[@F=A N 75,860& x2H x57 8,649
O=&Hl, nsE| 10,000& x2H 127 2,540
OiIEx=Y 1,440
. BHS Xt 40,000 x2H x6& 480
. =85 EFMAH 20,000& x2H 62 240
. EMAYE 60,000& x2H 6 720
OY ZE =t 400,000 x2H 13| 800
OHNWIELE L ZALE 22| JI2tHZ22 A 24,179
(OPIE=3=| 75,860& *3% x64 14,566
O 75,8603 *3H 28 6,373
OZ2t8l, W&l 10,0003 *3H 64 1,920




M ESAD
M HSZ AR =4 & ML B
Sl EHEY AUTR X4
= _ — d =
SA - BB B () - MM - BES e
O&E=g 1,080
. BHS X 40,0003 *3H 38 360
. E=,HIE AWM AH 20,0003 x3F 32 180
. =AY 60,0003 »3H +3& 540
o1 =l 80,0003 »3H 240
AANE S 2 =4 207,320 207,320
Al 99,300
e 108,020
201 LB-2d| 122,320 122,320
Al 56,800
s 65,520
01 At 2t 2l 38,720 38,720
O el 2,000
O F AtMIXA el bl 1,200,000& 1,200
O&EHIE Ml 800,000& 800
ou=l 1,120
O Zed AN II=H| 1,120
. HE = 80,0003 »7H 560
. HES 50,0002 x7H 350
. 2EE 30,0003 »7H 210
ogxtz 5,600
O3AHNE 28 2UZ3=7 SZH X
700,000 »2CH x4 5,600
OEHStZME 2 &0 ZEEZAE 29
30,000, 000& 30,000
Al 15,000
e 15,000
03 &Ar2 I 83,600 83,600
OtHstd ANEFT A 20,000,000& 20,000
Al 10,000
s 10,000
OEHSI 2 MEf 2 MEfwEZ2 29
63,600,000 63,600
Al 31,800
s 31,800
207 A RO 25,000 25,000
Al 12,500
s 12,500
03 Al & 11HI 25,000 25,000
O3F07 SHML  F4 AIEARHI
25,000,000& 25,000
Al 12,500
s 12,500
308 MtXIEHMSOIH 60,000 60,000
Al 30,000
[ia 30,000




PA B

M HSZ AR =4 & ML B
S B =4RE =4 (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
N 3JN2SUHUS3AHAE AR 60,000 60,000 0
ONHNNASY L EZTHIANY /=
60,000,000& 60,000
Al 30,000
i 30,000
ESNME S & =4 210,000 210,000 0
Al 105,000
s 105,000
207 A O H] 10,000 10,000 0
Al 5,000
s 5,000
03 Al & 121 HI 10,000 10,000 0
Oott&dl SXtda & |4 AlgaA+
10,000, 000& 10,000
Al 5,000
s 5,000
308 XX EHSOIA 200,000 200,000 0
Al 100,000
s 100,000
113/ 2SoHUHSZAEEALS I 200,000 200,000 0
OH3 =&d= MAl AEHEA
200,000, 000& 200,000
Al 100,000
e 100,000
HY2FZH (F4=410H) 321,558 340,207 A 18,649
ol egdl(S441) 202,714 207,923 15,209
olHA2IHI (Z+4t1) 202,714 207,923 25,209
101 @124l 202,714 207,923 25,209
01 2= 176,768 194,433 A1T7,665
OAZAZR L 12,1243 #45A] 2027 H + 128 176,768
02 JIEtE B == 25,946 13,490 12,456
OSSL A=A = 25,946
Ogdasddd=s 600,000& x2H 128 14,400
OANMZIZ R 9,579 »45A1 2H+2H » 128 10,346
OfIgZ2f+% 50,000& x2H 128 1,200
JI2ZH (S48 118,844 132,284 £ 13,440
Jl2dHl (541 118,844 132,284 A 13,440
201 Let24dH] 46,844 46,844 0
01 At 22/l 46,844 46,844 0
©F=R<Igat=:]l 11,900
OsHMa2S 11,900, 000& 11,900
OS2 (EH =2 At E)
8,000& x28H 134 x12& 34,944
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=MD
HEHSAHH (Z4 D)
JI2FH(E44D)

SA - BB B () - MM - BES Ol &t o San HmEET
202 Od4dl 67,200 80,640 A 13,440
01 = LHA YI 67,200 80,640 A 13,440

O 2L o HI 200,000& 28K x12& 67,200
203 YR =&l 4,800 4,800 0
04 FN2ELSZTH| 4,800 4,800 0
ORN2EYE=AH 400,000& 123 4,800




